FEHRITEIE T HIENEE

LS

—KX b= = 10 2 10 2
X b= PN 12 2 12 2
X b= AdE 12 2 12 2
=K b= LG 14 4 18 8
=K It %R 14 4 18 8
=K It ANE 14 4 18 8
=K It | 14 4 18 8
=K b= ;) 14 4 18 8
=X b= T 14 4 18 8
=K b= EiB 14 4 18 8
=K It ke 14 4 18 8
IX It [ 16 4 18 10
IX It FE 16 4 18 10
X t= piibl 16 4 18 10
FOX b= g 16 4 18 10
X b= il 16 4 18 10
IX It 3 16 4 18 10
X b= L=y, A 16 4 18 10
X b= =R 16 4 18 10




X b= LETES 16 4 18 10
Uil It= mll 16 4 18 10
X = HK 16 4 18 10
X = IF 16 4 18 10
X b= IR 16 4 18 10
AX b= 58 18 6 20 12
AKX b= B 18 6 20 12
X b= = 18 6 20 12
X b= =M 18 6 20 12
X b= i} 18 6 20 12
<X b= i 22 6 23 16
<X b= [t 22 6 23 16

R

LA ERIMYAFRRZE EEIEEE ;

2EEAE kg B9%B% | R 1kg ItH | SEARE 1kg B9#B% , 2 1kg itH ;

3REMHRG , S LFEESHREEILR , BIREENITEREER  ALATHIEE |

EEEMREE (kQ)HITESEAKE (cm) x BB (cm) x BE/8000 ;
X ARER (k) HITESZAKE (cm) x BB (cm) x BE/6000 ;

4.COD RESAFEZENUETRETRT 1 % , SR(REEN 1 JT , FBHREIME ; (RIMZEER 0.3% , R(REEN 1 JT , F5HEEIMA |
SAEWFEEIRIIEERSINE 100%iz2: , BBz BARESEERT 200% , BHEKERIREREZ  REIEES5IEMIEE

RAOEER . CHER



